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PHILOSOPHY

Paper III

EMEMIE]
PEECIECAEIN

Time Allowed : 2% Hours]
Note : This Question Paper contains Seventy Five (75) multiple choice questions.

[Maximum Marks : 150

Each question carries Two (2) marks. Attempt A/l questions.

U SRd. @E U Wi

oAl : A YA THY UeEal (75) dgudEl WA fool ofRd. Yosh WA & (2)

Which of the following principles is
not mentioned by Ramanuja in

Tattvatraya ?

(A) Spirit (Cit)
(B) Matter (Acit)
(C) Time (Kala)
(D) God (Is’vara)

According to S’ankaracarya the

world is real only as ...........
(A) Paramarthika Satta
(B) Vyavaharika Satta

(C) Both (A) and (B)

(D) Neither (A) nor (B)

WITATATRT HITCAT dxar=l FHEAIT

AT qasaTd ATar 2
(A) faq
(B) sifad
(C) =1

(D) TR

QR ETE A /A ST hales =

H .

(A) IR Hw

(B) =AME@Ieh

(C) (A) =mfor (B) St

(D) T (A T (B)

[P.T.O.



According to Jaina Dars’ana,

Dravya (Substance) has ................

(A) Samanya, Vis’esa

(B) Guna, Paryaya

(C) Guna, Samanya

(D) Paryaya, Vis’esa

............. Dravyas (substances) are

advocated by Vais’esika.

(A) 6

B) 3

© 9

(D) 10
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I o ST

(A) |m, fowre

(B) oI, WA

(C) o1, 9E

(D) v, e

VS S— P SN
SRR

(A) 6

(B) 3

©) 9

(D) 10




If Karana is inseparably connected

with the effect, then the Karana is

(A) Samavayi Karana (inherent

cause)

(B) Asamavayi Karana (non-

inherent cause)

(C) Pratiyogi Karana (opposite

cause)

(D) Nimitta Karana (efficient

cause)

Hobbes is a/an ............

(A) Nominalist

(B) Conceptualist

(C) Idealist

(D) Rationalist

JAN - 12318/III—A

SR R HEEN Afgursaiie et

(A) FHAET HRO

(B) 3@Hamt HRUl

(C) Jfarfl SR

(A) et
(B) HehedqAmaR!
(C) fagemt
(D) Ffgamt

[P.T.O.



According to ............ , Being is one

and indivisible.
(A) Heraclitus
(B) Plato

(C) Aristotle
(D) Parmenides

‘Degrees of truth’ are maintained

by :

(A) Plato
(B) Aristotle
(C) Bradley
(D) Kant

Brain-mind identity theory is put

forth by :
(A) Descartes
(B) Spinoza
(C) Ryle

(D) J.J.C. Smart
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............. Wqﬁ’tmv-@amm

(A) &aeed
(B) =it
(C) fR=fea

(D) gEAEfed

AT AU 3THAK, § e i

e ?

(A) =
(B) sfReiea
(C) et

(D) wTe

Tg-A9 AR YU iU HISadr ?
(A) <

(B) feram

(C) T

D) S8 e




10.

11.

Who speaks of feigning the
identity ?

(A) Locke
(B) Berkeley
(C) Hume
(D) Kant

Which of the following is maintained

by Abhihitanvayavada ?
() Words have separate meaning.

(i7) The meanings of indepednent
words get connected to express

sentence-meaning

(111 Words function to help convey

the meaning of a sentence.

(iv) Meaning of a sentence is a
function of the meanings of the

component words.
Options

(A) (1) and (i)

(B) (1), (i) and (iif)
(C) (2, (i) and (1)

(D) (1), (i) and (iv)

10.

11.

JAN - 12318/I11—A
deaar foell S, o =i w2
(A) <R

(B) kel

(C) =™

(D) e

sTfafEaroEETRT qeiaden! s Wi
;e ?
() TR @A oY STEa

(7)) e eI A9 At -
FEAEST Tehd Slsel Siard

(777 TR i HITITES IS B

HEAYd WA 1A H

(7v) T § Seh Yegrea AG
KR

LRI R

(A) (3 3nfor (7))

(B) (1), (1) T (zz)
(C) (3, (i) &MU (7v)
D) (2, (i) A (4v)

[P.T.O.



12. According to Anyathakhyati :

13.

(A) Object of error is unreal
(B) Object of error is imaginary
(C) Object of error is real

(D) Object of error is elsewhere and

is real

Identify the true sentences :

() According to Buddhists,
knowledge is intrinsically

invalid.
(i) According to Naiyayikas
invalidity of knowledge is

extrinsic.

(iz1) According to Prabhakara,

invalidity of knowledge is

intrinsic.
Options :
(A) (1), (i) and (i)
(B) only (1)
(C) () and (i)

(D) only (1)

12.

13.
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FHATEATTIER
(A) yHr=n fom™ st o9l

(B) yHT=n fas™ shieufer STl
(C) yHr=n fom |q t9al

(D) yHr=n fos™ o= oTedl oo §q
Tl

" faum sfes@n

() G HATHR M € Jord: STHHTo

19

() SR TAER JHE STYH
wa: =g 2@

(77i) THTRIAT AAGER FHEATE 3THHTTY
sfaffed e

iy

(A) (1), (1) 3nfon ()

(B) & (1)

(C) (1) Mo (i7)

(D) ek (11)




14. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(b)
(0

(d)

(1)
(2)
3)

4)

List I
Pratyaksa and Anumana
Anumana and S’abda
S’abda and Upamana
Upamana and Anuplabdhi
List II
Sankhya
Bauddha
Purvamimarmsa

Nyaya

Codes :

(@ b O @

A 2 1) @ O

B 3 1 @ @2

© GO 2 B @

M @ B3 @ @

(b FTAH =
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14, g1 19 =1 I o o i et
fecie Eehasklqd g Sar e :

et 1
(a) 994 9 HH

(¢ ¥ 9 IUHH

(d) 3UAH 9 TdaTeHT

(1) 9

(2) 95

it 11

(3) e

4) ==

K3 K3
-
.

(a)

(A (2)

B) 3)

© @

D) 4)

()

(1)

(1)

(2)

3)

(0

(4)

(4)

3)

(2)

3)

(2)

(4)

(1)

[P.T.O.



15.

16.

Which of the following theories of
pramanya (Validity) accepted by
Nyaya darsan ?

(A) Svatah-Pramanya (Intrinsic

validity)

(B) Svatah-Apramanya (Intrinsic

invalidity)

(C) Paratah-Pramanya (Extrinsic

validity)

(D) Svatah-Pramanya and

Paratah-Apramanya (Intrinsic

Validity and Extrinsic Validity)

Knowledge that has no source in

experience can be termed as :

(A) A priori

(B) A posteriori

(C) Tentative

(D) Synthetic

JAN - 12318/III—A

15. =¥ <YM GTHTOATE ©eteldsh! Shivrd

SR WihRell 38 ?

(A) HEq:-JHT

(B) &q:—3AUMHTT

(C) 9Xd:-9mHTg

(D) d:-9M0g AT 94T ;- ST

16. <1 IMETE1 I STHA A9, e

(A) SrvEqd

(B) STYARR

(C) darqed

(D) TYTH

10



17. The condition of knowledge that

18.

connotes objectivity is :

(A) dJustification

(B) Truth

(C) Correspondence

(D) Verification

Edmund Gettier’s famous paper

published in 1963 was entitled :

(A) Justified true belief is not

knowledge
(B) Knowledge cannot be defined
(C) Is justified true Dbelief

knowledge ?

(D) Why is justified true belief

knowledge ?

17.

18.
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AT &IOS -Tsadl e hiom

A9
(A) THEH
(B) el
(C) =

(D) T

1963 Wl YHIITA FTATAT TSHE

Tfgsr=n wigg vy feu sfivw

(A) H\dT U T GO & 9H TR

(B) AR STEAT XAl dq ARl

(C) HHAT U Hed YRom & qH SR

2

(D) T U "I ¥ROm & 9

AqE ?

11

[P.T.O.



19.

20.

The semantic theory of truth was

offered by :

(A) Ryle

(B) Moore

(C) Tarski

(D) Russell

The truth of the premises of an

inductive argument do not :

(A) in a priori way lead to the truth

of its conclusion

(B) prima facie lead to the truth of

its conclusion

()

in a posteriori way lead to the

truth of its conclusion

(D) prospectively lead to the truth

of its conclusion

19.
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eI U= JiS el

R,
(A) TgA

(B) |

(C) Tr=hi

(D) WA

iy (oW [

(A) sTgvagd e Freshei=n Fcrn-

T
(B) Weha <A fsehui= Feameda

(C) AFventefted A Fehui=a Tere-
=i

a AN o~

T Fehere Tesrea-

(D) vfasered

LR

12



21. Which of the following is true

about the Buddhist theory of

Anumana ?

(1) Hetu is Trilaksanatmaka

(2) Vyapti is derived from

tadatmya and tadutpatti

(3) Anupalabdhi anumana is a

variety of anumana

(4) Asatpratipaksatva is one of the

conditions of good hetu

Options :

(A) (1), (2) and (4)

(B) (2), (3) and (4)

(C) (1), (2) and (3)

D) (1), (3) and (4)

JAN - 12318/III—A

21. G SATAFEEL YEcTUshl hIvT el

e ?
(1) ©q Pregomers s

(2) =T TR & dgeast ARA e

shedl S

(3) STl STTHAM B STHMTET Teh

YhR 3T

(4) HIfdUETE § HSRqd Th &0

SIS
i
(A) (1), (2) 37T (4)
(B) (2), (3) =01 (4)
(C) (1), (2) 31fur (3)

(D) (1), (3) S7for (4)

13

[P.T.O.



22. Match List I with List IT and select
the correct answer from the codes

given below :

List I
(a) Pramana Samuccaya
(b) Pramana Mimamsa
(0 Nyayavatara
(d Nyayabindu

List II
(1) Dharmakirti
(2) Siddhasena
(3) Hemacandra
(4) Dinnaga
Codes

(@ (b (o (d

A @O 2 3 @
@ 2 B3 @O @
© @ & @ @

M @ 2 B @
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22. g I 9 F= 11 & Seoa 01 @ed]

feeiean Hehdlehlqd ard e fee .
et 1
(a) JHUT HH==I
(b) WHOT HIHET
(0 —IHIEdR
(d) =arafsig,
Tt 11
(1) eeehifd
2) fagdm
(3) THS
(4) fe=gm
Hehdich :

@ b ( (@
@ @O 2 & @
B @2 3 QO @
© @ 3 @ @

O @ @2 & @D

14



23.

24.

Find out which of the following is
not included in the Buddhist

classification of anumana ?
(1) Samanyatodrsta Anumana
(2) Svabhavanumana
(3) Anyathanupapanna anumana
(4) Anupalabdhi anumana
Options :

(A) (1) and (3)

(B) (1), (2) and (3)

(C) (2) and (4)

(D) (2), (3) and (4)

Nirvikalpaka and Savikalpaka are
two stages of pratyaksa Jnana. This

view is held by the :
(A) Naiyayikas
(B) Carvakas

(C) Buddhists

(D) Naiyayikas and Carvakas

23.

24.

JAN - 12318/III—A

qErAueh! HIMET AGUTOTA STTAATA
SR 0T FATSST B ARl ? d 3fesel

(1) HHRAGS 3TTHH

(2) WYETIAA

(3) FIATIIIA STTHH
(4) STUTHT TTHA
=i

(A) (1) s7for (3)

(B) (1), (2) =1 (3)
(C) (2) =fur (4)

(D) (2), (3) =0T (4)

fallaX

Mfdehcdeh & HideheUsh I AT

S9 9TE=Il 3TRd. § Hd U0 %l
<

(A) TR

(B) =matehi

(C) gt

(D) “=faesh o =ik A <R

15

[P.T.O.



25.

26.

Right faith, right knowledge and

right conduct are known as

(A) Triratna

(B) Triguna

(C) Tripitak

(D) None of the above

Which among the following are not
the kinds of Pratyaksa according to

Nyaya ?

(A) Samanyalaksna and

Jnanalaksana

(B) Laukika and Alaukika

(C) Nirvikalpa and Savikalpa

(D) Vahaya and Antara

25.

26.

JAN - 12318/III—A

{2, T, AR, A S0 ek 3=
S — T —

(A) B

(B) fon

(C) Tofqesh

(D) siedent el ARl

=AM JeicTish! IV JehR Feaeir=

g FEUH Ehen @l ?

(A) GO 3T A&

(B) wiiferer amifor srciiferen

(C) fAfderca snfor wfaehcy

(D) 9l o ST

16
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27. Sadharanadharmas are to be | 27. WERUEHE S{=Roy EIKil
practised by ................. .
(A) All human beings (A) 9o AFE
(B) Hindus (B) fig
(C) Indians (C) W
(D) All beings (D) &d sS4

28. The theory of varna is derived | 98 uifggiaE ITHEYH HUQ 2

from :

(A) -G
(A) Nasadiya-sukta

(B) q&9-Y
(B) Purusa-sukta
(C) Bhagavad-gita (C) TRt
(D) Brahma-sutras (D) T 3

17 [P.T.O.



29.

30.

Rta is identified with :

(A) Satya

(B) Dharma

(C) Both satya and dharma
(D) Neither satya nor dharma

Which of the following alternatives

indicates the correct order ?

(A) Grhasthas'rama, Vanapras’
thas’rama, Brahmacaryas’-

rama and Sanyasas’rama

(B) Brahmacaryas'rama, Grhas-

thas’rama, Sanyasas’rama

and Vanaprasthas’rama

(C) Brahmacaryas’rama, Grhas-

thasrama, Vanaprasthas'rama

and Sanyasas’rama

(D) Grahasthas’rama, Brahmaca-
ryasrama, Vanaprasthas'rama

and Sanyasas’rama

29.

30.

JAN - 12318/111—A
%A B deEY ArARN Fefud SR
(A) et
(B) it
(C) & smfn g et
(D) WoIEl el ewel et

TTATAd®T ST TATT FT HA

geffadt 2

(A) TEEAHH, TFYEASH, T HH T
BRI

(B) =YY, TERAISH, GAEIYY 9
ElREL I

(C) SET= e, TEEIsH, TTEASH T
BRISIE

(D) T[REATSH, STET=A S, SAATEAIHH &

T

18
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31. The view that moral obligation is | 31 3fgs STEHE qEIaR TR o8 =1
based on sentiments is advocated irbdqw\l"ll‘dl T Y e o
by :

(A) e
(A) Kant
(B) Aristotle (B) ¥Meted
(C) Plato (C) =&
(D) Hume (D) TH

32. Retributive theories of punishment 39, fodre whyeieeTE Sau =
is based on ............. e sTRd
(A) Use (A) ST
(B) Fairness (B) T
(C) Equality (C) T
(D) Mercy (D) =

33. Moral responsibility is based on : 33. e SEEER R T ST
(A) Causal agency (A) HROMCHS  HIIqU
(B) Free agency (B) T Ao
(C) Meritorious agency (C) TUmcH HIAqUT
(D) Social agency (D) HrHIfSTeh  Shidqon

19 [P.T.O.



34.

35.

The concept of good is primary for

the :

(A) Libertarian approach

(B) Contractarian approach

(C) Teleological approach

(D) Deontological approach

According to Aristotle, virtues are

(A) Ideas of reason

(B) Skills of habit

(C) Traits of personality

(D) Dispositions of character

35.

JAN - 12318/III—A

(A) WA g

(B) wfaftad gfteshi

(C) WISTemel giteehlAl

(D) haFaR! gfehi

IRETee=a Hd 90 BN

(A) oS FHedAl

(B) Wedlqd eTerel hived

(C) afsqawamra fage o

(D) == Y

20
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36. Identify the correct pairs : 36. T = 3esE

(1) Nyaya-Paratahpramanyavada
(1) HE-9HHTIAR

(i) Buddhists- Svatahpramanya-
_ (i7) Sg-Ta IR
vada

(7)) Mimamsa-Paratahpraman- (i) HTHE-d AT

yavada

(7v) ATEI-Tod ATHTIIEE

(iv) Samkhya -Svatahpramanya-

aTig

vada

Options : (A) (1) o (4

(A) () and (i) (B) (1) =nfor (47

(B) (1) and (711
(C) (1) 3T (4v)

(C) (1) and (iv)

(D) (i) 3Tfor (771)
(D) (17) and (111

21 [P.T.O.



37. Match List I with List IT and select
the correct answer from the codes

given below :
List I
(a) Social Disparity
(b)) Human Rights
(¢) Utilitarianism
(d) Deontological moral theory
List II
(1) Disproportion
(2) Universality
(3) Maximum hapiness
(4) Duty for duty’s sake
Codes :

(@ (b (o (d
@A @O @2 @ @
B O @ @ @
< @ @ & @

M @ B3 @ @

JAN - 12318/ITI—A

37. =T 19 F= 0L &1 Sfesan 01 et

feeied Fehdiehlqd ard 3ar faer :
gt 1

(a) QISR ATHMEGT

(b) HHAT TFH

(0 BUIFAER

(VAN oY

(d) =t hdeydel 3Uxl

it 11

(1) JHTOTSHE

(2) Hrefehar

(3) AfyerTfer 31T

(4) HAAES hHie
Hehdich :

@ b (o (d
A 1 @ & @
B 1 @ Q) @
© @ @ & @

D @ 3 @ @

22
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38. ‘In a Different Voice’ was authorised [ 38. " T 31 o fewee afsq’ fafea
by : 3TTe.
(A) Carol Gilligan (A) & e
(B) J.S. Mill (B) S.tg. fheo
(C) Simone De Beauvoir (C) fgum T bR
(D) Mary Wollstonecraft (D) T ARSI
39. Who was an ethical non- | 39 3Ifgs F-Jafifmart o & ?
naturalist ?
(A)
(A) Moore
(B) S.tg. fheo
(B) J.S. Mill
(C) Kant (C) =re
(D) Gandhi (D) Tedt
40. What do you mean by moral | 49 3fqs fawiere = =9 2
subjectivism ? L .
(A) idteriial dafaden gfteshio
(A) Individual views on morality
(B) Hidteiel SHTST=T A
(B) Society’s views on morality
(C) wrhren ifygt & w7
(C) People’s attitudes and opinions
D) ekl HIERN
(D) None of the above @) T
23 [P.T.O.



41.

42.

Utilitarianism is a ethical

theory.

(A) Teleological

(B) Deontological

(C) Emotivist

(D) Naturalist

“All that glitters is not gold” is a
.............. type of proposition.

A E

(B) A

©C) 1

D) O

42.
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(A) YASER!

(B) <haegaret

(OERICEIECIE

O BECUCI]

“HaThd 9 TE 9H TEdT ®

T faum eTe.

(A) E

(B) A

(C) 1

D) O

24



43.

44.

Examine given agument and choose
the correct name of the fallacy out

of codes given below :

Argument :

No men are perfect.

All men are animals.

No animals are perfect.

(A) Fallacy of Illicit Major

(B) Fallacy of Illicit Minor

(C) Fallacy of Illicit Middle

(D) None of the above

The subject term of the conclusion

of a syllogism is called .........
(A) Copula
(B) Middle term

(C) Minor term

(D) Major term

43.

44.

JAN - 12318/III—A

qeidl fkrare TURH dia dehard Je
oo FeharehrT sliesen :
IR
TH & AE gRgul .
Td Ao Wi ST
e Tl aRgel .
(A) 3T HEATR
(B) &Y T&UT
(C) 39 HEATG

fal

(D) STkl Thgl TRl

gfagumrear  fAsesi=ar seyragren

U
(A) FI~®
(B) #&Ug
(C) 9&9g

(D) Hr&ug
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45. The proposition in which both the | 45 w5 fagyme RF TE oM A e

subject and predicate terms are

distributed is a ............ proposition.

(A) O
A) O

(B) 1
(B) 1

C) E
(C) E ©
D) A D) A

46. The relation between ‘A’ and ‘E’ | 46. ‘A’ oo ‘B faummia  deHmen

propositions is called ............... RUdId
(A) Contrary (A) Ty
(B) Sub-contrary (B) suferier
(C) Contradictory (C) =Fred
(D) Subalternation (D) Suf*a

26



47.

48.

Proposition must be

(A) True

(B) Tautologous

(C) Neither true nor false

(D) Either true or false

If the statement ‘p’ is false and the
statement ‘q’ is true, the truth-
value of the statements ‘p D q’ and
‘“~p.q are :

(A) Both the statements ‘p > q’ and

‘~ p.q are true

(B) Both the statements ‘p D q’ and

‘~p.q are false

(C) The statement ‘p D q’ is true and

‘“~p.q is false

(D) The statement ‘p D q’ is false

and ‘~ p . q’ is true

48.

JAN - 12318/III—A

(C) TIe &l STHIEl ATel

(D) TR I foar /e
R ‘p & faum s ot g ® faum
T A, W poOq 3 ‘~p.q

EIREEIETci: o0 i i

(A) poq M ‘~p.q T aI=l fa8™

g

(B) p>q M~ p. g T =

fagm s

(C) pogefaamamanfii‘~p.

¥ 3T MR
M) p o q T faem 1w sufo

‘“p.q T IA W
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49.

50.

Find out the correct match :

(A) Tautology ~{@.~p
(B) Contingent PV ~Dp
(C) Law of Double ~ (~ A D)
Negation
(Ix) ox
(D) Rule of E.G. - oa

The correct symbolization of the

following proposition is :

Statement : Authors and poets are

intelligent and successful.
(A) ®I[(Ax . Px) o (Ix . Sx)]
(B) ®[(Ax . Px) o (Ix v Sx)]
(C) ®IAx . Px) . (Ix . Sx)]

D) ®[(Ax v Px) D (Ix . Sx)]

49.

50.
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3k SISl ool :

(A) Had: qA ~(.~p)
(B) Afaftsraai aem&@™@ pv ~p
(C) fgarfmu=if=® ~(~Ap)
(D) A==t

T faue= ek fagdied oTR

faem : creeh o7 et § gfgam smf

IINE] 3R
(A) X[(Ax . Px) o (Ix . Sx)]
(B) x)[(Ax . Px) o (Ix v Sx)]

C) X(Ax . Px) . (Ix . Sx)]

D) ®[(Ax v Px) o (Ix . Sx)]
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51. Ahurmazda is the supreme God | 51. 3gHIQT T TH IgR AR T HA
according to : R :
(A) Hinduism (A) fegeH
(B) Christianity (B) fgsamyd
(C) Zoroastrianism (C) SRYET=N e}
(D) Islam (D) =M oH
52. Guru Nanak is the founder of ......... 52. & AM® © GEAUE TRd
(A) Islam (A) %I g
(B) Sikhism (B) @ ww=
(C) Vaisnavism (C) Jorg e
(D) None of the above (D) AU SHIvAE qaF e
53. Everything in the universe is | 53 fgsardies Gd®TEl AfaTF MR AT
contingent and there must be - S TR ¥ o T Tt
something which is non-contingent, 5
and that something is God, which e >
is a necessary being. This is the Afard s — vt fagracden @
........... argument for the proof of JeKitag 38
existence of God.
(A) HAfaw
(A) Moral
(B) TEI&TA
(B) Design
(C) Ontological (C) W
(D) Cosmological (D) TR
29 [P.T.O.



54. ‘Tirthankar’ and ‘Tathagata’ are

55.

terms associated with :

(A) Jainism and Hinduism

(B) Jainism and Buddhism

(C) Sikhism and Hinduism

(D) Judaism and Jainism

Is’vara is only nimitta karana of

the world is held of :

(A) Nyaya system

(B) Vedanta system

(C) Jainism

(D) Mimamsa System

54.

55.
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‘defrt’ emfor ‘quma’ B Ue Tefud

3Med

(A) SHgH enfor fegemmed

(B) SHud amfor srgemiet

(C) Hragd sufo fegumien

(D) <o emfor Sewfed

“Eyer WA wed AfH wror R

T Ud TR

(A) <TFEsHEMN

(B) SRIGIH™

(C) IR

(D) HHERIAR
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56.

Name the author of the article ‘On

56.

JAN - 12318/III—A

‘aftq feifen’ &1 ora fafeomr=n e

Denoting’ : qd
(A) Quine (A) FaEA
(B) Davidson (B) sfssaq
(C) Russell (C) W
(D) Frege (D) ®T
57. Frege makes a distinction between 57 T i e qq Ve Hel TR
the following :
(A) 19 snfor g 8t
(A) Sense and truth conditions
(B) | 3TfoT gl STl
(B) Truth and truth conditions
(C) =1 anfor erefd
(C) Sense and nonsense
(D) Sense and reference D) e smfer
31 [P.T.O.



58. Who maintained that language

59.

functions not on sentence-to-

sentence basis, but as a whole ?

(A) Frege

(B) Russell

(C) Quine

(D) Early Wittgenstein

What is the nature of Strawson’s

metaphysics ?

(A) Revisionary

(B) Idealistic

(C) Descriptive

(D) Nihilistic

JAN - 12318/III—A

58. TS SRITAT SAERMER T A Hdl

59.

T SMURER h1E hid 379 hIvl

el 3T ?

(A) HI

(B) W«

(C) wamEd

(D) YR faeiimere

H g ?

(A) TSRS

(B) fecart

(C) IvHTHS

(D) IAmERT
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60.

Name the author of ‘Philosophical

60.
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frataiftheral SRR’ A1 JEhT=

Investigations’ : e A4
(A) Early Wittgentein (A) R faeimere
(B) Russell (B) W&
(C) Frege (C) T
(D) Later Wittgenstein (D) = faei=erEa
61. Wilhem Dilthey introduces the | 61. facew feeeft =t o REGEIRE
concept of : e
(A) Categories of life (A) SfeEr= @I
(B) Categories of understanding (B) 3TeheHr=Al il
(C) Categories of consciousness (C) Sifore= et
(D) Categories of objects (D) IE=N FEd
33 [P.T.O.



62. A major problem associated with the

63.

method of hermeneutics is :

(A) Conflict of interpretations

(B)

Transparency of meaning

()

Interdependence of interpre-

tation and understanding

(D) Role of grammar in interpre-

tation

Which of the following is not a part

of the method of Phenomenology ?

(A) Dialectics

(B) Epoche

(C) Intentional analysis

(D) Reduction

JAN - 12318/III—A

62. 31 FuRURTET= TSt ffeq gea

63.

(A) redfufom=n e

(B) A= UREYehd

(C) reffagfror snfor sreeaw am=

RO o

(D) AR AR fHent

EATeTUeh! ShTd HHYIIYS 1 Tgdi=l

g ATEr ?

(A) ggfae™

(B) T

(C) favenfugedar stemfid fagersm

(D) TR
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64. Match of the following : 64. Siedl Jeodl :
Group I e 1
(a) Carvaka (a) =i
(b)) Bauddha (b) digH
(0 Kumarila (0 IR
(d) Prabhakara (d) FHThY
Group II e II
(1) five pramanas (1) U= YET
(i) six pramanas (/) el JHm
(/) two pramanas (Zi7) T A
(i) one pramana (i) TH A
Codes : Wichdich :

(@ b (© (d (@ b (© (d
(A) (@) i) v () (A) (i) i) v ()
B) (i) G G ) (B) (i) (i) v ()
(©) v Gy () () ©) Gw (i) G )
D) (@) v ) O D) () v D) O

35 [P.T.O.



65.

66.

67.

Husserl wanted philosophy to

become :
(A) an empirical science
(B) a rigorous science
(C) a speculative science
(D) a normative science

Which theory of error is upheld by
S’amkara ?

(A) Akhyati

(B) Satkhyati

(C) Anirvachaniyakhyati
(D) Viparita-khyati

According to Ramanuja individual

(A) non-dual with a God
(B) Reflection due to ignorance
(C) Real enjoyer and agent

(D) The Brahman

65.

66.

67.
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g AT Ao

B,

(A) TF yas fomm
(B) Wk HICHIIME
(C) T foa-cHeRT

(D) TH HAHRITE
Aiea ?

(A) T

(B) St

[ [a) [a

(C) AMFAHIEA I

(D) fagdiaeamd

AT Hd SRt T 81/

(A) SYIRM TEF 6 d

(B) _MIYes SHS Wfdfes o7y
(C) ar&qd w3 hal 376

(D) s& 38
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68. In case of conflict between sense | 68. 3TINE q I A TS/ [T eI
experience and testimony S’armkara IR THTOT AU 3RS
prescribes to go by : <drd.

(A) Testimony (A) STsqHHTI
(B) Sense experience (B) 3‘@'&"3343[
(C) Reason (C) I

(D) Inference (D) STAE

69. Acceptance of Brahman as Supreme | g9 aifqmy o VA SR SR HT §
Reality points to : | e T Bie e
(A) Subjective Realism (A) SfFASS Sdae
(B) Subjective Idealism (B) =HfsfTss fage
(C) Objective Idealism (C) a‘{ﬂﬁr@ fagre
(D) Objective Realism (D) TS AT

70. According to Ramanuja 70. TSI ™ aﬁw a7fT ﬁﬂqﬁ
Dharmabhutjnana and Nityabhuti a—— .
are ............

(A) Jad Dravyas (A) 5 5=
(B) Chetana Dravyas (B) = %=
(C) Ajada Dravyas (C) 3T 5A
(D) Unreal drvyas (D) AT 5
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71.

72.

‘All the wealth belongs to God and
those who hold it are trustees not

possessor’ was stated by

(A) Tolstoy

(B) Vinobha Bhave

(C) Gandhi

(D) Tagore

Which of the following would Gandhi

not accept ?

(A) A good end justifies the means

to it

(B) End and means are convertible

terms

(C) Satya is the end, ahimsa is the

means

(D) End and means are

interdependent

JAN - 12318/III—A

71. T GUI SIS ST (07 < SRS

72.

T o fa= favasa 219ama, Aretes T9ard ¢

(A) e

(B) fodren v

(C) el

(D) MR

@i R AT SR 3T

(A) 9 e WEAE FHEA S

(B) 9ied 3mfor |ied WER qiadHia

aTRd

(C) T e o1g oMfur e1fedn =

a3’

(D) Hrem SNfor e WEasl 38
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73.

74.

75.

The journal Harijan was run

(A) Ambedkar
(B) Sri Aurobindo

(C) Gandhi

(D) Swami Vivekananda

Gandhi criticised industrialisation in
one of the following :

(A) Education

(B) Hind Swaraj

(C) Key to Health

(D) My Experiments With Truth

Gandhian Economics is based on

(A) Spiritual principle
(B) Social principle
(C) Economic principle

(D) All of the above

73.

74.
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gie & Fedefass
(A) 3TFIEHT
(B) =it erfag
(C) e

(D) @ faaeTe

M sTeNfiententomer. Jéa feramma
T el R :

(A) Teremor
(B) fég wu=

(C) ARt Tefcheatt
(D) WS T WA
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ROUGH WORK
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